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Decide whether snosugh infermation is given to prove that the
triangles are congruent, ¥ there is enough information, state the
congruence posiuiate or theorem vou would use.
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Decide whether the congruence statement is rue. Explain your reasoning,
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State the third congruence that must be given o prove that A ABRC = AFED 4
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State the third congruence that is nseded to pmve > that ADEF = [ QRT
using the given poestulate or theorem, -
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is it possibie to prove that the triangies are cangruent" if so, state the
postuiate(s} or theorem(s } you wouid use.
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Telt whether you can use the given information fo determine whether
ARV = AXYZ. Explain your reasoning.
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Explain how you can prove that the indicated triangles are congruent
using the given postulate ortheorem.
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€. Inthe ﬁguru VWX = LAZYVF. Find the coordinates of Vand ¥

&, Jnthe fioure, AMIN = AKLJ. Find the coordinaies fggj.,l&nd K.
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“for the. triangies'in‘the coordinate: plane.
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5. Proof Complete the proof.

GIVEN: LYYW = L ZWY,

LWXY = L ¥ZW

PROVE: WY 77
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Proof Complete the proof.
GIVEN: 05 = PR, PS L RS, OF L RS |
s b L .

PROVE: APRS = AQSR
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5, RS = SR

6. /\PRS = AOSR

Proof Complete the proof.

7.
GIVEN: 4B || CD, AE =T

PROVE: LLABC = ADCR
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" in Exercises 1-4, refer to the diagram to write 2 two-column proof.

1. GIVEN: P4 = PC, 48 = RC
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PROVE: APAB = [APBC 0Ty -
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3. GIVEN: AL = FC, BE = EF,
AB = RBC

PROVE: LAFB = ACER
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%2. Preef Complete the proof.

GIVEN: X = 7X, L
Z 15 the:midpoint of 77

PROVE: AWXZ = AYXZ
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t3. Find all values of x that make the wmangles congruent. Explain.
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